Geometry A Name: el

3.1 Notes: Pairs of Lines and Angles Date: Y Period :
Two lines that do not intersect are either paraliel tines or Skew {ines
Two lines are pard\\c\ if f\n(% dD NOt ntexsect dnd ave coplanar

Two lines are NYTIWN) if ‘:\XIH) do NOt intexgect and are noy ggpmng[ .

Two planes __that do NOY inwertect ave paxaliel planes

arrows mean
parallel

Ex: lines m <n are paraiiel (mim)

Ex: tnes s m are Swew

Ex: panes TsUareparatiet (T4 u)

Ex: lines kin are \ntorscc;hng

Parallel and Perpendicular lines

Two lines in the same plane are either paralle ] or \nexiest ar o gcm]’
Ex. \ines 0§ R are paratiet (n//g) : i
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Practice: Think of each segment in the figure as part of a line (e.g., think of G as ﬁ). Which line(s) or plane(s) in
the figure fit each description?
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a) Line(s) parallel to FG.  HE, (D, A® G 4
P > ! -
b) Line(s) parallel to FG and contain point D. (p 7 I _
]
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¢) Line(s) skew to AB. Fo/ GC, F6 lﬁ' ;
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d) Line(s) skew to AB and contain point G . FG, GC Pl g
P
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e) Line(s) perpendicular to FG and contain point E. Fg

f) Plane(s) parallel to plane GHB. Plane FED



Angles and Tranversals.

A transversal is a line that  m¥o3eUtS two oy more, lines at dibferent Pomri
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Angles formed by Transversals

Definition Example
Two angles are (0 H@SQQDﬂiﬂg if
they are on tnc same Swde of +ne frangversal « are
n matcning positiong ”
Two angles are __altynat intenoy if 5
they are 1nude the two Wines and are diagonal i i T .
from each other \.
3230
Two angles are oLrnore  extexioy if \
they are outside Yhe two lines and are diagonal k R
- % La
from coth ofhey 14 \
Two angles are __(ontecuhve inieriov anguc if ;
thay are ingide e Ywo lined on the samd Swde 4
o the transversal
3¢9
Practice: Identify the relationship between each pair of angles.
a) ZLland £7 b) Z3 and £6 - 1
2
alt. extert O congecuhve ntenoy 4/3 —
c) Z8and /7 d) Z4 and /8 e
linear parr vresponding /
e} Z3and £5 d) Z2 and Z4

At interior vernaal



